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Answer All Questions

1. (1) Arrange the following compounds in the order of decreasing basicity.

ammonia, pyridine, 3-nitropyridine, trimethylamine, 3-methylpyridine
(10 marks)

(ii) Explain why pyridine is less basic than piperidine

(10 marks)



(iii) Show how you would prepare the following compounds starting from pyridine.

NO,
a I = b. | ==
e,
N~ “NH, N"

(30 marks)

2. Give the products of following reactions.
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(ii) HyO*

(f) NaNHz/A
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(i) HaO

alkaline KMnQy,

-CO,

(35 marks)

3. Give the mechanism with appropriate reagents for ONE of the following transformations.

(l  PhCHO 4+ CHy(COuEl); ———————» PhCH=C{CO,Et),

(if)

CgHsBr

— PhCH,CHO

(15 marks)
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(n) Explam why pyndme is lessibasm than iperidir

The unshared pair of electrons on the pyrldme mtrogen oecuples a sp —hybrldrzed orbltai, I_ S .'

. While in plperldme the unshared pair occupies a
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